THE BOHR MODEL OF THE ATOM

Subatomic Particles
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Isotope Symbol

Mass Number
A








Also represented by “Name-A”








where A is mass number

Atomic Number
Z




   Chemical Symbol

Mass number is the number of protons and neutrons in the nucleus of that atom.

Atomic number is the number of protons in the nucleus.  It matches the location of the element on the periodic table, and thus, the chemical symbol.  It is also the same as the number of electrons in the neutral atom.


Example:
199 F
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Bohr Diagrams
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Electrons are placed in the first orbit until it is filled, and if there are some remaining, they are placed in the second orbit until it is filled.  Although the third orbit can hold 18e(, only 8e( are placed there when continuing to fill orbits, and the next two are placed in the fourth orbit.  The model becomes complex at this point.

# protons = # electrons for neutral atom


# neutrons = mass # ( atomic #











